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QUESTION 1

A LAG is configured with LACP passive mode enabled. When will LACP packets be sent? 

A. On initialization and then every hello-interval. 

B. Only after receiving LACP packets. 

C. Every 1 second. 

D. Never. 

Correct Answer: B 

 

QUESTION 2

If a management VPLS is administratively disabled what will be the status of the associated user VPLS SAPs? 

A. Regular semantics will apply. It will be as if the SAP doesn\\'t belong to a management VPLS. 

B. All user VPLS SAPs will be disabled/pruned. 

C. It is not possible to administratively disable a management VPLS. 

D. Spanning tree will be automatically enabled on the user VPLS SAPs. 

Correct Answer: B 

 

QUESTION 3

Which of the following needs to be considered when designing Ethernet networks with redundancy? 

A. Processing the TTL takes extra time. 

B. MAC learning rate is doubled. 

C. FDB size is doubled. 

D. Requires a protocol to remove loops. 

Correct Answer: D 

 

QUESTION 4

In IEEE 802.1ag, which two key functions are configured on bridge ports (SAPs and SDPs) to support CFM messages?
(Choose 2) 

A. MEP 
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B. MAP 

C. MIP 

D. MUP 

Correct Answer: AC 

 

QUESTION 5

Five VPLS services have been configured between two PE routers. What is the minimum amount of SDPs that must be
configured? 

A. 5-one for each service. 

B. 2-one in each direction. 

C. 10-five in each direction. 

D. None of the above. 

Correct Answer: B 
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